Psyc941 Quiz #2  Hw#4:  Confidence Intervals, Effect Sizes & Power Analyses

This uses the same data set as the previous two homeworks.  I’ve provided you with useful information from the earlier analyses to complete this assignment.  Write only your answers below – please don’t try to cram in your computations.

Use the CI Computator for all calculations!  (Why?  The results depend upon the t-table used!)

1. In Hw#2 you found the mean age of the sample (N=24) to be 21.5 (std = 3.26).

a. What is  the 95% confidence interval for this mean?

b. How does the information from this CI relate to a test of the H0: that this sample represents (is drawn from) a population with a mean of 21?  Based on this CI, what would be the result of that test?

c. What is the 50% confidence interval for this mean?

2. In Hw#3 you found a significant difference between a mean rating of 3.667 given by the 12 participants who received the vignette describing the new neighbor as “friendly” and a mean rating of 6.08 given by the 12 who received the “standoffish” description (F(1,22) = 5.6, p < .05, Mse = 6.25).

a. What is the 95% confidence interval for the mean difference between these conditions?

b. What is the size of this effect, expressed as d 

c. What is the effect size expressed as r?  What is the 75% confidence interval for this effect size estimate?

d. What sample size would be required to reveal this effect with power = .8 and p = .05?
3. In Hw#3 you found a correlation of .636 (N =24, p < .05) between scores on the OFS and the liking ratings.  

a.  What is the 95% confidence interval for this correlation?

b. What was the (approximate) power of this analysis?  (By convention, round r = .636 down to .60).

c. Using the lower bound of the 95% confidence interval (remember to round down to be conservative) as your estimate of the effect size of this relationship, what sample size would you need to reveal this effect with power = .8 and p = .05? 

4. In a re-analysis of Hw#3 data, it was found that there was not a statistically reliable relationship between neighborhood they grew up in and type of  preferred friend, with X²(1) = 3.00, p = .083. 
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a.  What is the size of this effect, expressed as r?  What is the 95% confidence interval for this effect size estimate? 

b. Based on the effect size estimate in “4a”, what sample size would be needed to reveal this effect with power = .8 and p = .05?  

